SN HYEOID
M of0iEE| U LB (SUMHLEM/FHLSL - 0fE)
el EEEN Soiot e - 2 (St &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
offret Qi 47,538,947 37,635,968 9,902,979
= 58,700
[ 19,973,000
Jl 583,000
== 26,924,247
Aorate| & SHYBFINA (SHHL A/ L4t - HE 24,498,8% 11,299,021 13,199,875
= 58,700
s 19,973,000
J| 583,000
T 3,884,1%6
ZletBA Sofet e - 2= 22,345,616 9,221,692 13,123,924
= 19,498,000
< 2,847,616
HOHEHI(Z2D) 18,760,400 7,695,730 11,064,670
s 16,623,000
= 2,137,400
403 AXIEHHSAH=01d 18,760,400 7,695,730 11,064,670
[ 16,623,000
= 2,137,400
01 AXISHHA2EE 18,760,400 7,695,730 11,064,670
O HEHI (B0 2) 18,760,400
= 16,623,000
S 2,137,400
HOPAY|(HOtE Al MEYEAL ) (21) 1,250,000 1,250,000 0
= 875,000
[ 375,000
401 AIZHIX R0 1,250,000 0 1,250,000
[ 875,000
= 375,000
01 AlZ28| 1,250,000 0 1,250,000
OgtEA AEiZAL B9 1,250,000
[ 875,000
= 375,000
BISHOL Sat2el 6,000 7,200 21,200
202 04l 6,000 7,200 21,200
01 2LHoIH 6,000 7,200 1,200
OBt&It Seateltis =8 6,000
St HOIHMXIZ0l X 72,216 70,132 2,084
308 AtXIEMSOIE 72,216 70,132 2,084
01 HRHHBSEEXS 72,216 70,132 2,084
OEE7 HOHEAIZ0l A& 72,216
HAetEHI(22IeralsHer) (= 1) 2,257,000 198,630 2,058,370
[ 2,000,000
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== 12,580
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= 58,700
< 12,580
sHMedl HaH(=1) 712,500 712,500 0
[ 475,000
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= 475,000
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< 237,500
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